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#include <stdio.h>
#include <math.h>

int main()
{
FILE *datafile;
double x,y,z,t=0,dt,t_min,t_max,r,count=0;
double ka,kb,kc,kd,kax,kbx,kcx;
double 1la,lb,lc,1ld,lay,lby,lcy;
double ma,mb,mc,md,maz,mbz,mcz;

printf("r =");scanf ("%1f",&r);
printf("x =");scanf ("%1lf",&x);
printf("y =");scanf ("%1f",&y);
printf("z =");scanf ("%1f",&=z);

printf("t_min=");scanf ("}1f",&t_min);
printf ("t_max=");scanf ("%1f",&t_max) ;
printf("dt ="):scanf ("%1f",&dt);

datafile=fopen("lorentz-rk3.dat","w");

for(t=0;t<=t_max;t=t+dt){
if (t>=t_min){ /**x* start if 1 *x*x/
fprintf (datafile,"%f %f %f %f\n",t,x,y,z);
if (count<=t){ /***x gtart if 2 *x*x*x/
printf ("t=%10f x=,10f y=%10f z=J10f\n",t,x,y,2);
count=count+10;
}  /*xkxx end if 2 *x*xx/
}  /xxx end if 1 *%x/

ka=dt*(-10%(x-y));  kax=x+(ka/2);

la=dt* (-x*z+r*x-y); lay=y+(la/2);
ma=dt* (x*y-(8/3)*z); maz=z+(ma/2);

24



kb=dt*((-10) * (kax-lay)) ; kbx=x+(kb/2) ;
1b=dt* ((-kax)*(maz)+(r*kax)-lay); lby=y+(1b/2);
mb=dt* ((kax*lay)-((8/3)*maz)); mbz=z+(mb/2);

kc=dt*((-10)*((kbx-1by))) ; kcx=x+kc;
lc=dt* ((-kbx)*mbz+(r*kbx)-1by); lcy=y+lc;
mc=dt* (kbx*1by-((8/3)*mbz)); mcz=z+mc;

kd=dt*((-10)*(kcx-1cy)) ;
1d=dt* ((-kcx) *mcz+ (r*kcx)-1cy) ;
md=dt* (kcx*1lcy-((8/3)*mcz)) ;

x=x+((ka+(2*kb)+(2*kc)+kd) /6) ;
y=y+((lat+(2x1b)+(2x1c)+1d)/6);
z=z+((ma+(2*mb)+(2*mc)+md) /6) ;
} /*** end for loop **x*/
fclose(datafile);
}
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B 00000000 0OO0O0OD0OO0OOOOO

/**x Lyapunov Exponent with Lorentz Model *xx*/

#include <stdio.h>
#include <math.h>

int main()
{
FILE *datafile;
FILE *Loutputfile;
int L_output;
long int i,i_Lp,i_Lq,i_Lpp=0,i_Lqgq=0;
long double L;
double L_start,L_sab,r,rr,rrr,dr;
double t=0,dt,t_min=0.000000,t_max,tp=0,tq,ttq;
double n,i_max,count_break=0;
double Lp,Lq,Lpp,Lgq,rogu,rogu_sum=0,count=0,ramuda=0,tau;
double x,y,z,xv,yv,zv;
double xo0,y0,Z0,XV0,yvV0,ZVO;
double ka,kb,kc,kd,kax,kbx,kcx;
double 1la,lb,lc,1ld,lay,lby,lcy;
double ma,mb,mc,md,maz,mbz,mcz;
double kav,kbv,kcv,kdv,kaxv,kbxv,kcxv;
double lav,lbv,lcv,1ldv,layv,lbyv,lcyv;

double mav,mbv,mcv,mdv,mazv,mbzv,mczv;

printf ("r_start=");scanf ("%1f",&rr);
printf("r_end =");scanf("%1f",&rrr);

printf("dr =");scanf ("%41f",&dr) ;
printf ("dt =");scanf ("%1f",&dt);
printf("x =");scanf ("%1f",&xo0);
printf("y =");scanf ("%1f",&yo);
printf("z =");scanf ("%1f",&=z0) ;
printf ("xv =");scanf ("%41f",&xvo) ;
printf ("yv =");scanf ("}1f",&yvo) ;
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printf("zv =");scanf ("%41f",&zvo) ;
printf("t_max =");scanf("%1f",&t_max);
printf ("tp =");scanf ("%1f",&tp);
printf("tq =");scanf ("%1f",&tq) ;

printf ("If L_output=1, output L(t)\n");
printf ("L_output =");scanf ("%d",&L_output);

i_max=t_max/dt;

printf ("i_max=%f\n",i_max);

tp=0.00000;
tq=20.000;
i_Lp=0;
ttq=tq+5.00000;

datafile=fopen("lyapounov3.dat","w");

if (L_output==1)
{
Loutputfile=fopen("distance-rkl.dat","w");

}

for(r=rr;r<=rrr;r=r+dr) /** start for(r...) *x/
{
printf ("r=Yf\n",r);
rogu_sum=0;

count=0;

for (n=xo0;n<=(x0+0.010) ;n=n+0.00100) /** start for(X(0)...) *xx/
{
x=n; xv=n+0.000100;

y=yo; yV=yVo;
Z=Z0; ZV=2ZVO0;
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L_start=sqrt ((x-xv)* (x-xv)+(y-yv) * (y-yv) +(z-zv) * (z-2zVv) ) ;
Lp=L_start;
L_sab=L_start*0.1000;

for(i=0;i<=i_max;i=i+1) /#** start for(t_min...) *x*x/
{
t=ix*xdt;
L=sqrt ((x-xv) * (x-xv) +(y-yv) * (y-yv) +(z2-2zv) * (z-2zVv) ) ;

if (L_output==1 && i%1000==0)
{
fprintf (Loutputfile,"%f %f\n",t,L);
}

if (t<ttq)
{
if (t>tq-0.00001 && t<tqg+0.00001)
{
Lg=L;
i_Lg=1i;
count_break=0;
if (r>20.8500)
{
i_max=(tq+1.0000)/dt;
}

}
if (t>ttq)
{
if (L<L_sab)
{
Lqg=L;
i_Lqg=i;
rogu_sum=0;
count_break=1;
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break;

/** Lorentz 1 start *x/

ka=dt*(-10*(x-y)); kax=x+(ka/2) ;
la=dt* (-x*z+r*x-y); lay=y+(la/2);
ma=dt* (x*y-(8/3)*z); maz=z+(ma/2);

kb=dt=*((-10)* (kax-lay)) ; kbx=x+(kb/2) ;
1b=dt* ((-kax)* (maz)+(r*kax)-lay); lby=y+(1b/2);
mb=dt* ((kax*lay)-((8/3)*maz)); mbz=z+(mb/2);

kc=dt*((-10)*((kbx-1by))) ; kcx=x+kc;
lc=dt* ((-kbx)*mbz+(r*kbx)-1by); lcy=y+lc;
mc=dt* (kbx*1by-((8/3)*mbz)); mcz=z+mc;

kd=dt* ((-10) * (kcx-1cy)) ;
1d=dt* ((-kcx)*mcz+(rxkcx)-1lcy) ;
md=dt* (kcx*1lcy-((8/3)*mcz)) ;

x=x+((ka+(2%kb)+(2xkc)+kd) /6) ;
y=y+((la+(2x1b)+(2%1c)+1d)/6) ;
z=z+((ma+(2*mb) +(2*mc)+md) /6) ;

/**x Lorentz 1 end *%x/

/**x Lorentz 2 start xx/

kav=dt* (-10* (xv-yv)) ; kaxv=xv+(kav/2) ;
lav=dt* (-xv*zv+r*xv-yv); layv=yv+(lav/2);
mav=dt* (xvxyv-(8/3)*zv) ; mazv=zv+(mav/2);

kbv=dt*((-10)* (kaxv-layv) ) ; kbxv=xv+(kbv/2);

1bv=dt* ((-kaxv) * (mazv)+ (r*kaxv)-layv) ; lbyv=yv+(1lbv/2);
mbv=dt* ((kaxv*layv)-((8/3)*mazv)); mbzv=zv+(mbv/2);
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kcv=dt* ((-10) * ((kbxv-1byv))); kcxv=xv+kcv;
lcv=dt* ((~kbxv) *mbzv+(r*kbxv)-1byv); lcyv=yv+lcv;
mcv=dt* (kbxv*1byv-((8/3)*mbzv)); mczv=zv+mcv;

kdv=dt* ((-10)* (kcxv-1cyv) ) ;
l1dv=dt* ((~kcxv) *mczv+(r*kcxv)-lcyv) ;
mdv=dt* (kcxv*1lcyv-((8/3)*mczv)) ;

xv=xv+( (kav+(2xkbv) + (2xkcv) +kdv) /6) ;
yv=yv+((lav+(2x1bv)+(2%1cv)+1dv)/6) ;
zv=zv+ ((mav+(2*xmbv)+(2*mcv) +mdv) /6) ;
/** Lorentz 2 end *x/

} /** start for t_min *x/

if (count_break>0.5)
{
Lg=Lqq;
i_Lg=i_Lqq;
}

printf ("X(0)=%6.3f i=%d Lp=%e i=%d Lg=%e\n",n,i_Lp,Lp,i_Lq,Lq);

if (count_break<0.5)
{
rogu=(log(Lg)-log(Lp))/(dt*x(i_Lg-i_Lp));
rogu_sum=rogu_sum+rogu;
count=count+1;

if (count_break>0.5)
{
rogu=(log(Lqg)-log(Lp))/(dt*(i_Lg-i_Lp));
rogu_sum=rogu;
count=1.0000;
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break;

if (L_output==1)
{
fprintf (Loutputfile,"&\n");
}

} /** end for{X(0),Y(0),Z(0)} *x/

printf ("count=%3.0f\n",count);

ramuda=(rogu_sum/count) ;
fprintf (datafile,"’%6.3f %10.6f\n",r,ramuda) ;

printf ("r= %6.3f Lyapounov = %10.6f\n",r,ramuda);
printf ("\n");

}/*x end for(r....) *x/

fclose(datafile);

if (L_output==1)
{
fclose(Loutputfile);

}
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C Udoboooooobooooboood

/**x Lyapunov Exponent with Lorentz Map **x*/

#include <stdio.h>
#include <math.h>

#define kosu 1000000

int main()

{
FILE *writefile;
FILE *readfile;
FILE *datafile;
long int 1i,kazu;
double x,y,z,x_start,y_start,z_start;
double r,r_start,r_end,dr, t,dt,t_min,t_max,s;
double ka,kb,kc,kd,kax,kbx,kcx;
double 1la,lb,lc,1ld,lay,lby,lcy;
double ma,mb,mc,md,maz,mbz,mcz;
double z_now,z_oldl,z_0ld2,z_01d3,z_old4,z_old5;
double z_0l1d6,z_01d7,z_01d8,z_01d9,z_o01d10,sa_z;
double M_max,M_min,MMM,MN,MO,MP,MQ, count_M=0;
static double P[kosul,Q[kosu],PP[kosul],QQ[kosu];
double Q_max,Q_zero,QQQ,n,a,b,c,beki,wl,w2;
double Pua,Pub,Qua,Qub,count_ua,count_ub,u;
double dQdP,lyap,rogu,shiguma,count_lyap,ul,u2,u3,u4,ud;

printf ("r_start =");scanf(")1f",&r_start);
printf("r_end =");scanf("%1f",&r_end);
printf ("dr =");scanf ("%1f",&dr);
printf("x_start =");scanf("}1f",&x_start);
printf("y_start =");scanf(")1f",&y_start);
printf("z_start =");scanf(")1f",&z_start);
printf("t_min  =");scanf("%1f",&t_min);
printf("t_max =");scanf("%1f",&t_max);
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printf("dt ="):scanf ("%1f",&dt);
datafile=fopen("lyapounov.dat","w");

for(r=r_start;r<=r_end;r=r+dr)
{
printf ("/*** r=)5.2f loop ***/\n",r);
wl=-1; w2=1;
x=x_start; y=y_start; z=z_start,
Z_now=z_oldl=z_o0ld2=z_01d3=z_old4=z_01d5=-0;
Z_01d6=z_0l1d7=z_01d8=z_01d9=z_01d10=-1;
t=M_max=b=count_M=0.000000;
0QQ=Q_zero=Q_max=0;
n=kazu=shiguma=count_ua=count_ub=0;
Pua=Pub=Qua=Qub=a=0;
count_lyap=1; M_min=c=99999;

writefile=fopen("lyap_prot.dat","w");

for(t=0;t<=t_max;t=t+dt)
{

if(t>=t_min && z>0.0001) /** start if t_min *x*/

{
z_01d10=z_01d9; Zz_01d9=z_01d8;
Z_01d8=z_01d7; z_0ld7=z_o0ld6;
z_0l1d6=z_o01d5; z_o0ldb=z_o0ld4;
z_o0ld4=z_o01d3; Z_01d3=z_01d2;
z_0ld2=z_old1; z_oldl=z_now,;
Z_NOW=z;

if(z_0ld2 < z_o0ldl && z_now < z_oldl) /#** start if z_old

{
MP=MQ;
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MQ=z_old1;

if (M_max<MQ)
{
M_max=MQ;
b=MP;

if (M_min>MQ)
{
M_min=MQ;
+
if (MP>0.00001 && MQ>0.00001)
{

count_M=count_M+1;
fprintf (writefile,"%10.6f %10.6f\n" ,MP,MQ);
}

} /** end if z_old *x*/

}  /** end if t_min *x/
ka=dt*(-10*(x-y)); kax=x+(ka/2) ;
la=dt* (-x*z+r*x-y); lay=y+(la/2);
ma=dt* (x*y-(8/3)*z); maz=z+(ma/2);
kb=dt*((-10)* (kax-lay)); kbx=x+(kb/2) ;
1b=dt* ((-kax)*(maz)+(r*kax)-lay); lby=y+(1b/2);
mb=dt* ((kax*lay)-((8/3)*maz)); mbz=z+(mb/2);
ke=dt*((-10)*((kbx-1by))) ; kcx=x+kc;
lc=dt* ((-kbx)*mbz+(r*kbx)-1by); lcy=y+lc;

mc=dt* (kbx*1by-((8/3)*mbz)); mcz=z+mc;

kd=dt*((-10)* (kcx-1cy));
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1d=dt* ((~kcx)*mcz+(r*kcx)-1cy) ;
md=dt* (kcx*1lcy-((8/3)*mcz)) ;

x=x+((ka+(2*kb)+(2*kc)+kd) /6) ;
y=y+((lat+(2x1b)+(2x1c)+1d)/6);
z=z+((ma+(2*mb)+(2*mc)+md) /6) ;

} /** end for t *x/
fclose(writefile);
sa_z=fabs(z_now-z_01d10) ;
if(z_01d10>0.0 && sa_z>0.00000001)

{

printf("count_M = %6.0f\n",count_M);

/** Start reading "lyapounov.dat" xx*/

readfile=fopen("lyap_prot.dat","r");

i=0;

while(fscanf (readfile,"%1f %1f",&P[i],&Q[i]) != EOF)
{

i++;

}

kazu=i;

printf("kazu =)%d\n",kazu);

fclose(readfile);

/** End reading "lyapounov.dat" *x/
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for(i=0; i<kazu; i++)
{
if (Q[i]>Q_max)
{
Q_max=Q[i];
/* b=P[il;*/
}
}

for(i=0; i<kazu; i++)
{
if (P[i]!'=b && Q[i]!'=c)
{
PP[i]l=1log(fabs(P[i]-b));
QQ[il=1log(log(Q_max)-log(fabs(Q[i]-c)));

if (PP[1]>-0.001 && PP[i]<0.001)
{
QQQ=0QQ+QQ[il;
n=n+1;
}
if (PP[i]>w1-0.01 && PP[i]<w1+0.01)
{
Pua=Pua+PP[i];
Qua=Qua+QQ [i];
count_ua=count_ua+l;
}
if (PP[i]>w2-0.01 && PP[i]<w2+0.01)
{
Pub=Pub+PP[i];
Qub=Qub+QQ[i];
count_ub=count_ub+1;
}
}
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Q_zero=QQQ/n;
a=exp(Q_zero);
beki=((Qub/count_ub)-(Qua/count_ua))/((Pub/count_ub)-(Pua/count_ua));

printf("n counts = %3.0f\n",n);
printf ("Pua=%10.6f Pub=7%10.6f\n",Pua/count_ua,Pub/count_ub);
printf ("beki=Yf a=%f b=%f c=)f\n",beki,a,b,c);

/** Start lyapounov value **/

for(i=0;i<=kazu;i++)
{
if(P[i]'=b && Q[i]!=c)
{
dQdP=fabs (Q_max*a*beki*pow(fabs(P[i]-b), (beki-1))
xexp (-axpow(fabs(P[i]-b) ,beki)));

rogu=log(dQdP) ;
shiguma=shiguma+rogu;
count_lyap=count_lyap+1;
}

}
lyap=shiguma/count_lyap;
printf ("r=%4.2f lyapounov =%10.6f\n",r,lyap);
fprintf(datafile,"%6.3f %10.6f\n",r,lyap);

}
else
{
lyap=-10;
printf ("r=%4.2f lyapounov =%10.6f\n",r,lyap);
fprintf(datafile,"%6.3f %10.6f\n",r,lyap);
}
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} /*x End for(r=r_start;...) *x*xx/

fclose(datafile);
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